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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Explain the terms: 1)Statics and Dynamics
2) Couple.

(ArctiRYdls AU : 1) RA(A2UR W dt(Aaut

2) Gl
Differentiate between :Scalar quantity and Vector quantity
dstalct B : Al AL wal w(B et Al

Define force and explain various system of force.
woofl catvaul AW W Aoll (@AY Ut UMl

Give: 1) Parallelogram Law of forces with formula.
2) Resolution of forces with formula.
1) AHAR USSRl R Yo A W,

2) ololloll ¥olsoley (A Y2t A AU

OR
Give: Triangle Law of forces and Polygon Law of Forces with figure.

Aol att WA cllotl olgslalell [ augld W 2l .

Define moment of forces and give Varignon’s Principle of Moments.
wnyQlofl cautvul W U clRtoll sinyelell Rtuid .,

Two forces act at an angle of 120°. The bigger force is 35 KN of and the
resultant is perpendicular to the smaller one.Find the smaller force.

A WARL Wl A (Gg WD 1200 otl W AL B. Mg WA 35 KN &
Aol UIGUHL ol ellotl el ol B, dl ellotl tlole] Het 2.

yileuHl ol vel 0.

OR
Give types of moments with figure and also give units of moment.

“nyQlotl Ysk Aol a5l W W WA dnyQls{l Al .

The following forces act at a point :

1) 20N inclined at 30° towards North of East.

11)25N towards North. 1i1)30N towards North West and
iv)35N inclined at 40 ° towards South of west.
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Find the magnitude and direction of the resultant force.

ol AMAA ol A5 (Glg UR As2e 52 B

)20N Yyl (2auell 30° Grir UR (Bau R

ii)25N Gtl? % . iii)30N GelR-(LAM dR§ AUal
iv)35N (A (Bouell 400 el (Rau dzs.

Al Aeof UleuHl el wal (B2 20Kl

Define equilibrium forces and Give lami’s theorem.
HAloll AH Aol vl 2 4 Atlle] yna 2.
Find the centre of gravity of a 100mm x 150mm x 30mm T-section.
100mm x 150mm x 30mm &l-As2lolo] 9 cclHu(clg L.
OR
Give conditions of equilibrium of coplanar non concurrent forces and types of
equilibrium.
AH A2l AHUHl Aol AHA A 2R Al %RUA WA Aol YUslR
AL,

An I-section has the following dimensions in mm units:
Bottom flange: 300x100 Top flange: 150x50 Web: 400x50
Determine the position of centre of gravity of the section.

o{lAetl WES-A5Aotoll UILHIERL mm ASHHL HAA B:
olleH $A° :300x100 2lU $A%: 150x50 Aot: 400x50
GUls As2oley dfcctieau(ele 0.

Define frame and give its classification with the help of a neat sketch.
SHoll callvul wRUA A Aof [Aeiesot ety igld gl g2l

A simply supported beam,AB of span 6m is subjected to loading as shown in
figure (a). Determine the reactions Ra and Rb.

galact g figure ()L Al Al AWEs 6m colleSall ollHall

y[Asl2 Raand Rb 20

OR
Explain perfect and imperfect fame with neat sketch.

2alcty AlglA R ool WA W(AZsc FH AMesAl.

A simply supported beam AB of spam 6m is subjected to loading as shown in
fig. (b) Find the support reactions at A and B.

galact g figure (b)HL AL Alell AWEs 6m AolleSatl ollHatl
yldst 20t
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